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Caze/Mode Critical coef. . Precizion
34 1 2,38101e+001 8, 70995e-004
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I Geometry + I3n::lur'|rc:l.'-.lr'g.I conditions + Loads |

| Calculatlnn of a L>
| oz 10

| Global imperfection |

| 1% order analysis |w

In plane stability check of In plane stability check of columns using buckling
columns using member length length according to global buckling mode

13930l AYMIPMBOL 2556500 T9ds IMbYds LosbsGMOTM
Loa®dggdol d9d39mdoo .

U32990b bssb635503m bogdg (356030 BsGBmb bodtrdygdo0

Bo@BMU 3030 - M530LTBemo Godol Bs®Bm (sway frame )

p

e

B > 5A

Classical way of checking if you have a “sway” structure
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NCCI: Buckling lengths of colummns: ngorous approach

= =
Y Kok AR,
= =
A
where K.
and K

SNOOBa-EN-EU

15 the column stiffness coefficient /L

1s the effective beam stiffness coefficient

(b) Sway mode

Conditions of rotational restraint at far end of beam

Effective beam stiffness coefficient K
(provided that beam remains elastic)

Fixed at far end
————

Pinned at far end

Rotation as at near end
(double curvature)

Rotation equal and opposite to that at near end
(single curvature)

General case
Rotation ¢, at near end and &, at far end

]._,[]i
L

IZII,T"Si
L

]._,Si
'

['J,Si
L

é,
1+052= 1
8 |L
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sway mode
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900MoMdOL 30MHmds (6.3.3.(4)):

Neg ik, M, ey +AM, k- M, ey + AM, <1
ZyNex p My n M. re
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XN P My,Rk MZ,R!{
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XyNRk i 2 My:m:
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v Ym1
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XNy ¥ My,Rk
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5
Nrk = A~fy =2.334x 10" kg

4
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Ymi =1
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D, = 0.5-[1 + oy (e, = 0.2) + Zﬂ = 1.092 (6.49)
1
1= =0.592 (6.49)
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| (h - tf)z
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L 133kgm 00 339000b 0dMEmgd9d0L dmddgoo 8mdghEgdol

Y _23587kg-m BB

The effective length factors k and kw vary from 0,5 for full fixity to 1,0 for no fixity, with 0,7 for
one end fixed and one end free.

For cases with k = 1,0 the value of C1
for any ratio of end moment loading as indicated in Table F.1.1, is
given approximately by:

5 5 ENV 1993-1-1 (F.1.2)
Ci = (1.88 - 1.4—‘{’y + 0.52-‘1’y ) if (1.88 - 1.4-‘Ir’y + 0.52-‘1‘y ) <27

2.7 if (1.88 - 1.4—‘1’y + 0.52~‘}’y2) 227

Cp =27
L := 6000mm 3399000 Lo5635®»08m LogMdg 0vrbzol ML
t2EL 1261, S
Mepi= Gy |+ 5 = 1377« 10kgm ENV 1993-1-1 (F.6)
L z  noEl,
Wi 1,
ply
Nypmi= |——— =044
LT M, (6.56)
0‘LT = 021 (Gbﬁ)()@o 6.3 )
® -=05.[1 +app(Rpp - 02) + A 2} =0.622 (6.56)
LT =0 LT\* Lt -0 Lt | =0

1

ALT =
LT I
Qpr+ (P —ALT

=0.942 ( 6.56)
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